Solutions to Homework No. 11 (Chapter 14)
Review Questions
2. Atom refers to submicroscopic particles in a sample and element is used for microscopic and macroscopic samples.
4. Atoms are smaller than the wavelength of visible light. Therefore, they cannot be seen.
10. A proton has a charge equal to, but opposite, that of an electron
Exercises
2. Hydrogen, carbon, and oxygen are each examples of elements. Water, however, is not an element in that it consists of two kinds of atoms, which are hydrogen and oxygen.
13. The one on the far right where the nucleus is not visible.
14. The proton contributes much more to an atom's mass than does the electron. The electron, however, contributes much more to an atom's volume than does the proton.
